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NDA 1 2025 - Maths Complex Numbers Class - 3

Q)Let z; and z, be two non-zero complex numbers such that

|21|=|32|=
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What is the value of | z; +z, | ?
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Q)Let z; and z, be two non-zero complex numbers such that

1 1
i i —

Z1 2y
What is the value of | z; +z, | ?

(@) 8 (b) 4
© 2 (d) 1

|21|=|32|= =2

Ans: (a)
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Q) What is one of the values of /i +./—j ?

@ 2. b) 0
1+1 1—1
p L d +-—L
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Q) What is one of the values of /i +./—j ?

@ 2 b) 0
1+1 1 —1
 pp— d +—

(c) +\/§ (d) +\/§

Ans: (a)
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Q)If 1,0,0° are the three cube roots of unity, then what

(am6 +bw? + sz)
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Q)If 1,0,0° are the three cube roots of unity, then what

(am6 +bw? + sz)

1S (b+ URION ar.og) equal to?

a
(@) N (b) b
) o d) @’

Ans: (c)
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1+14/3 .
V3 . then what is the value of 1 + a8 + a0 +
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{124+{2132?
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Q) If a=1+i\/§

2
o024 + o329
(@ O
) o

Ans: (d)

. then what is the value of 1 + a8 + a0 +

(b) 1
d _—@?
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Q)What is 11000 4 j1001 4 ;1002 4 ;1003 eqya] to (where

i=+-1)?
@ 0 (b) 1
© - @ 1
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EXAMS

Q)What is 11000 4 j1001 4 ;1002 4 ;1003 eqya] to (where

i=+-1)?
@ 0 (b) 1
© - @ 1

Ans: (a)
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What is the value of the sum

20
E{in—1+in +il’1+1)
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EXAMS
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Q)(i39 + léig) =7
a) 0
b) 2i
c) —2i
d)1-i

Ans: (c)

EXAMS
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EXAMS

Q)What 1s the square root of the complex number — 5 + 121 ?
(a) 2 -3i (b) 2431/

(© —2+3i (@ J-5+412i
Jstni = 7‘*%(

dp-es Agen (7Y
9(27‘11 = \/?—5‘)2-} 1)t = /3
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Q)What 1s the square root of the complex number — 5 + 121 ?
(@) 2 -31 (b) 2+3i

(© —2+3i (@ -5+4/12i

Ans: (b)
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QIf oo and B are the roots of

x*+x+1=0, then what Iis
3

E(C('j +Bj)equal to? %2,/. L+ =0

j=0

o ) 8 /\ ) (mfx [+ #8020
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QIf oo and B are the roots
x°+x+1=0  then what

3
E(ch + B7) equal to?
j=0

(a) 8 (0) 6
(c) 4 (d) 2

Ans: (d)
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Q)The modulus and principal argument of the complex
1+2i

number are respectivel
1-(1-i)° : 4
(@) 1,0 (b) 1, 1 (c) 2,0 (d) 2, 1
v
[ +20 A }+2L° ~ | ) +0C
/_(/ _,_2;) [+ 21
modu/ws = /

ard’umenf = faonp = 0. - p 3 6=0
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EXAMS

Q)The modulus and principal argument of the complex

1+2i :
number are respectively

1—(1-1i)°
(a) 1,0 (b) 1, 1 (c)2,0 (d) 2, 1

Ans: (a)
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Q)Ifz is a complex number such that z + 2z~ L =1, then what is

the value of 272 + 2797 7

(@ 1 (b) -1 K’ 2+ L =/

(c) 2 (d) —?/, e
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Q)Ifz is a complex number such that z + z~! = 1, then what is
the value of 222 + 2797 ?

@ 1 (b) -1
©) 2 d -2

Ans: (d)
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Q)Consider the following statements
. (@®+1)"+w=0 A
. (0% + 1)1% = p° for some prime number p, where w # 1

Which of the above statement(s) is/are correct?
a) Only|

b) Only Il v~

c) Both | &Il

d) Neither | norll

1) (w+1) +w
(co2)t 4w = —wFW Fo

/0 /
2 (1+1)"7 = o?L"/’ 2 /s prime.

EXAMS
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(=]

EXAMS

Q)Consider the following statements
. (@®+1)7"+w=0
. (0% + 1)1% = p° for some prime number p, where w # 1

Which of the above statement(s) is/are correct?
a) Only |

b) Only Il
c) Both | &Il
d) Neither | norll

Ans: (b)
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Q)If y = cos 0 + isin 0, then the value of y +
a) 2cos®

b) 2sin 6 0 T 1o)”/

c) 2cosecH if‘ e 0 "&7 ”a - (e Q

d) 2tan© = 10 e}(’e)
S~ A———
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sin(-0) = —s/n@
———

= QS0 + (STno — [/ng
= 480
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Q)If y = cos 0 + isin 0, then the value of y + Zis
a) 2cos® g

b) 2sin 6
c) 2cosecH
d) 2tan®

Ans: (a)

EXAMS
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Q)IfA={xeZ: x3_1 =0} and B= {x € Z:x*+x+1=0}, where
Z 1s set of complex numbers, then what is A n B equal to ?

Null )
(@) Null set (b\)/
“1+431 —1-+/3 i
(c) 4 ’ 4 ()

/’r:{/, W, wzf
g‘—"{w/ w'lf

2

(_1+4/31 —1—\/51}
.

;1+\/§i 1—«/51}

2 2

AN B :{wf wzf

= Zf—-/%ﬁf
X
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Q)IfA={xeZ: x3_1 =0} and B= {x € Z:x*+x+1=0}, where
Z 1s set of complex numbers, then what is A n B equal to ?

(@) Null set

4 4

—1++/31 —1-4/31i
© :

Ans: (b)

©)

} (d)
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(_1+4/31 —1—\/51}
.

2

2 2

;1+«/§i 1—«/51}
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Q)Which one of the following is correct in respect of the
cube roots of unity?
(a) They are collinear

(b) They lie on a circle of radius V3 / W L
(c) They form an equilateral triangle\z/ ’ ’ \ P
(d) None of the above |+ 0t } -/ f Sl -] - \/;L
2 3
(£, %)
/24 3 A - BC = e
Q ,f,ra
k /\/ . —Eﬂfu/r/afvfﬂ/ /
(1,0)
B
N
(Fsr-2)
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Q)Which one of the following is correct in respect of the
cube roots of unity?
(a) They are collinear

(b) They lie on a circle of radius +/3
(c) They form an equilateral triangle
(

d) None of the above

Ans: (c)
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QIf z = (£+i_]1m+[~5

2 2 2

1maginary part of z equal to?

1
2
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] 5then what 1s the
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- anuoswr + L.WM — LMM
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. \107 \L07
Q)If z = ﬁ_{_l + ﬁ_l _then what 1s the
2 2 2 2

1maginary part of z equal to?
1
@ 0 b) =

2
3
(c) %— ) 1

Ans: (a)
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Q) Let z=13(1 +1) be a complex number. What is its argument?

@ = (b)

T
© -7 (d)
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Q) Let z=13(1 +1) be a complex number. What is its argument?

@ = (b)

_,;‘L; 3

kid d
© -4 @

Ans: (c)
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Q)If 1, o, 2 are the cube roots of unity, then the value

of 1+ @)1+ 0" )1+ o )(1+e") is

@ -l b) 0
(03/ 1 (d) 2
(-wl)(-—w)(~wz)(—-w)
> w6 =

NoA~
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Q)If 1, o, 2 are the cube roots of unity, then the value

of 1+ )1+ 0?)(1+o*)(1+a®) is

@ -l b) 0
c) 1 (d) 2

Ans: (c)
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Q)If z° + z+1=0, where zis complex number, then the value

of o?Q'%Z-f/ o))
[z+§]2+(zz+z%]2+[z3+z%]2+ ......... +(26+ZL6]2 18 60/ \wl Wt =/
8o
@ 18 ()% _)
(i) 6 @ 12V -

W L ;
(o) oo o) () () (1)

= (wﬂo?')z (waw 2+(/+1 "4 (wqu')z'f (wz+w)2+ [HI)L

= (=) + () )4 vt () +(7%(4?1f@
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Q)If z° + z+1=0, where zis complex number, then the value

of

[z+32+(zz+z%]2+[z3+z%]2+ ......... +(z6 +ZL6]2 is
@ 13 (b) 4

© 6 (d) 12

Ans: (d)
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